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102 ROIINO. 2 eeereiciniannnn,
2015
APPLIED PHYSICS
fraifa wag . dtm e ) - [siftrman i : 70
Time allowed : Three Hours] [Maximum Marks : 70

FT . (i) W g fErd & vy 8 § T uie & Fav Sifed
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(i) A% Jo & T G ) FHAR 0F QY 8T P
Solve all parts of a question consecutively together.
(iii) e TP F T4 T G AR S |
Start each question on a fresh page.
(iv) TT wrie & s g1 @ Ry 7 St srgars & A &

Only English version is valid in case of difference in both the languages.

1. (i) 3o T it uRenfad Fifew |
Define modulus of rigidity.
(ii) wem an w5 efva fafeT |
Write definition of escape velocity.
(i) Tae fonvar =t oftams <
Give definition of electric potential.
(iv) webTeT ferege yma T & 9
What is photo electric effect ?
(v) FoEm &t & . o § 2
What is meant by mass-defect ? (2x5)
P.T.O.
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(2) 1869
- - 4 3
A T ST WL W F S ? FH g = o1 GRd # W Sty S,
Wl Hehel % et o €
What is meant by fundamental and derived units ? Check the correctness of the

4
formula g = 3T G Rd. Where the symbols have their usual meaning.

I Yt ve faegey yeme | ofaY i |@nEew |
Explain the difference between streamline and turbulent flow.

T el H I 10 B 7% 9g € 1 A 9= Hw g 77 9.8 x 1072 =A@,
ar Feer 1 e i wifaw )

Water rises upto 10 cm in a capillary tube. If surface tension of water is
9.8 x 1072 N/m, then find radius of the capillary tube. (2+4,3,3)

e 1 TN 1 fan ffe | e oo & a9 J SO F 9 e aw
aftEas & e sTevas g7 i @A ST |

Write Newton's law of gravitation. Establish the necessary formula for variation
in the value of gravitational acceleration with height.

IR A F WA A0H FIAT | AT ol F @ F a7 v s geiee ¥ faw
AEAYIF G AT AT |

Describe the resonance tube with diagram. Find the necessary formulae for
velocity of sound and end correction using resonance tube. (6+6)

=gz F1 virer w1 e fafae | Wiea-dieesmia fam st s 8 e ¥ viae &
fram =it == i |

Write Newton’s law of cooling. Derive Newton’s law of cooling with the help of
Stefan-Boltzmann’s law.

ferait famg, e o o et e O et & =6t eftera 1 w3 =gqeay it
Derive formula for intensity of electric field at a point due to a point charge.

10 37 791 15 1 % wieRiy ari F W9 %9 § Aizw U 15 dee & faga aa @
it fean s & | WAt o1 qew wfeRiy w15 o & afer @ wanfea 9T ) omn
HIAT |

Resistance wires of 10 ohm and 15 ohm are joined in parallel and attached with

an electric source of 15 volt. Calculate equivalent resistance of the combination
and current passing through the 15 ohm resistance. (2+4,3,3)
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fasammdt % fagia & FHfafy w1 afe avm Hig |
Describe the principle and working of potentiometer.

% L-R Seaad! 9rT aftgw & oo after smw fafy @ oftee 5t wfsmn v swi wa
i el

Find impedance and phase difference with vector representation method for an
L-R a.c circuit. (6+6)

37T SROT T & 0 ST BT TON SRt SR i |
What is mutual induction ? Define coefficient of mutual induction.

P ud N TR % H=ers $§ 7d & 7 THIET |

Explain the formation of P and N type of semiconductors.

(iii) s PNP =T $t /i st a9t |

(1)

(ii)

(i1)

Explain the biasing of a PNP transistor. (2+2,4.4)

SIS & WeHTYT Fare]e TR0 i THART |

Explain the photo electric equation of Einstein.

Ay faeues =t guemgw | v foeer & & wn o g gei S |
Explain nuclear fission. Describe with diagram various parts of a nuclear reactor.

(6, 2+4)

TTHr gEeAT! & HROT, THT U F919 & I97 fafay |
Write causes, ill effects and ways of protection of nuclear hazards.

yaremen # fareemes faf grr fart 3wt ofw =) sl g T @ =t fafa @ wfe
U it |

Explain the method of finding focal length of a convex lens with displacement
method in faboratory. (6+6)
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